TIHRYBEHESNAF A XL U ERERR

g E STAEE
AlE R
R4.4.25 R4.7.11
BIEIER BITE KR BASL BEH A
254F Kipeh 0.00081
HEH R 1
BEAH R ng-TEQ/my
BHEHRH
EHRE:0. 01
3EF 0.0012 Kipeh
25 IR IV Gl 0.0057
BEH IR ng-TEQ/g 3
354F 0.0042 NGl

MR T K pg-TEQ/L 10 0.00025 0.011




TIHRYBEHESNAF A XL U ERERR

g E SHSEE
HI%E B
R3.4.5 R3.7.12 R3.10.1 R4.1.11
BIEIER BITE KR BASL HHEE
2B A IS Glas 0.0021 0.000043 ¥l
HEH R 1
HH R ng-TEQ/m)y
BHEHRH
EHRE:0. 01
354F 0.0030 N GL= N Gles 0.00066
28R KIFeh 0.0084 0.0043 RiFh
BEH IR ng-TEQ/g 3
354F 0.0055 ARIph N Gles 0.043
BURT K pe-TEQ/L 10 0.00032 0.0067 0.00050 0.11




TIHRYBEHESNAF A XL U ERERR

E SH2EE
BER
R2.4.27 R2.7.13 R2.10.1 R3.1.12
BIEIER BITE KR ==X B R %
28R KiEch 0.0015 0.000042 0.000042
HEH BB 1
HEAH R ng-TEQ/m,
EES:L]
EHRE:0. 01
35 0.000042 KiFe KiFe KiFe
254F KiEh 0.011 0.0065 0.0018
1FEEN K ng-TEQ/g 3
35F 0.0080 NGl NGl NGl
MR T K pg-TEQ/L 10 0.0035 0.0087 0.042 0.88




TIHRYBEHESNAF A XL U ERERR

g E SHTEE
HI%E B
H31.4.5 R1.7.22 R1.10.21 R2.1.14
BIEIEE BITE KR BASL HHEE
251F 0.0015 0.0019 N Gl== N Gl=n
HEH R 1
BEAR ng-TEQ/m,
BHEHRH
ER{E:0. 01
3FIF N Gles NGl 0.0015 0.000041
251F 0.0053 0.0044 NGl=s NGl
BEH IR ng-TEQ/g 3
3FIF N Gles ARIph 0.0034 0.011
BURT K pe-TEQ/L 10 0.11 0.19 0.069 0.00020




